

Houghton Mifflin Harcourt

Proposal

Prepared For

Raytown School District C2

Attention: **Victoria Denney** victoria.denney@raytownschools.org

For the Purchase of:

HMH Science Dimensions 2018 Hybrid Package 6 Yr

Prepared By Bill Pallucca bill.pallucca@hmhco.com

Coupon Code: K1200019PB

PLEASE SUBMIT THIS PROPOSAL WITH YOUR PURCHASE ORDER.



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

Proposal for Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

18	SBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
Grade	<u> </u>						
C	Classroom Package						
5	SRP/TRP						
1674192		cience Dimensions Hybrid Student Resource Package nt/6yr Digital) Grade K 2018	\$43.71	700	\$30,597.00	\$4,588.76	\$26,005.00
Packag	e Includes:						
		ext 6-Year Print Subscription Grade K					
	_	Curriculum 6-Year Grade K					
	t Edition eTextbook ePub adable Student Edition Pl						
Downloa	adable Student Edition Pt	or Grade K					
1674228		cience Dimensions Hybrid Teacher Resource Package yr Digital) Grade K Grade K 2018	\$208.00	38	\$7,904.00	\$1,185.59	\$6,718.40
Packag	e Includes:						
	r Edition Grade K						
		ent Center 6-Year Grade K					
	adable Teacher Resource ment Guide Grade K	e Tool PDF Grade K					
Assessi	ment Guide Grade K						
T	otal for Classroom	Package		\$32	2,723.40		
A	\ la Carte Items Availa	ble for Purchase					
1693042	9781328849434 HMH S	cience Dimensions Grade Level Equipment Kit Grade K	\$212.25		\$212.25		
1693048	9781328849496 HMH S K	cience Dimensions Consumable Replacement Kit Grade	\$95.40	32	\$3,052.80	\$457.92	\$2,594.88
T	otal for A la Carte It	ems Available for Purchase		\$2	2,594.88		
Total	for Grade K			\$3	5,318.28		



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

Expiration Date:8/31/2018

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

I	SBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
Grade	<u>e 1</u>						
	Classroom Package						
,	SRP/TRP						
1674193		cience Dimensions Hybrid Student Resource Package nt/6yr Digital) Grade 1 2018	\$49.60	700	\$34,720.00	\$5,207.74	\$29,512.00
Studen Online Studen							
1674229		cience Dimensions Hybrid Teacher Resource Package rr Digital) Grade 1 Grade 1 2018	\$212.20	40	\$8,488.00	\$1,273.19	\$7,214.80
Packag	ge Includes:						
	er Edition Grade 1						
	Teacher Digital Manageme						
	padable Teacher Resource Ement Guide Grade 1	TOOLPDF Grade T					
7	otal for Classroom I	Package		\$3	6,726.80		
	A la Carte Items Availal	ole for Purchase					
1693043	9781328849441 HMH So	cience Dimensions Grade Level Equipment Kit Grade 1	\$343.80		\$343.80		
1693049	9781328849502 HMH So 1	cience Dimensions Consumable Replacement Kit Grade	\$86.80	32	\$2,777.60	\$416.63	\$2,360.96
7	otal for A la Carte Ite	ems Available for Purchase		\$	2,360.96		
Tota	l for Grade 1			\$3	9,087.76		



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

Expiration Date:8/31/2018

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

I	SBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
Grade	e 2						
	Classroom Package						
,	SRP/TRP						
1674194		cience Dimensions Hybrid Student Resource Package int/6yr Digital) Grade 2 2018	\$49.60	700	\$34,720.00	\$5,207.74	\$29,512.00
Studen Online Studen							
1674230		icience Dimensions Hybrid Teacher Resource Package byr Digital) Grade 2 Grade 2 2018	\$212.20	40	\$8,488.00	\$1,273.19	\$7,214.80
Packag	ge Includes:						
	er Edition Grade 2						
		nent Center 6-Year Grade 2					
	padable Teacher Resource Sment Guide Grade 2	e Tool PDF Grade 2					
7	Total for Classroom	Package		\$3	6,726.80		
	A la Carte Items Availa	ble for Purchase					
1693044	9781328849458 HMH S	science Dimensions Grade Level Equipment Kit Grade 2	\$293.55		\$293.55		
1693050	9781328849519 HMH S 2	cience Dimensions Consumable Replacement Kit Grade	\$125.65	32	\$4,020.80	\$603.11	\$3,417.60
7	otal for A la Carte la	ems Available for Purchase		\$	3,417.60		
Tota	l for Grade 2			\$40	0,144.40		



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

Proposal for Expiration Date:8/31/2018

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

I	SBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
Grade	e 3						
(Classroom Package						
,	SRP/TRP						
1674195		cience Dimensions Hybrid Student Resource Package int/6yr Digital) Grade 3 2018	\$56.05	700	\$39,235.00	\$5,884.99	\$33,348.00
Packag	ge Includes:						
		text 6-Year Print Subscription Grade 3					
	•	Curriculum 6-Year Grade 3					
	nt Edition eTextbook ePub Dadable Student Edition P						
DOWING	Jadabie Student Edition P	Dr Grade 3					
1674231		science Dimensions Hybrid Teacher Resource Package Byr Digital) Grade 3 Grade 3 2018	\$212.20	37	\$7,851.40	\$1,177.70	\$6,673.69
Packag	ge Includes:						
Teache	er Edition Grade 3						
		nent Center 6-Year Grade 3					
	padable Teacher Resource	e Tool PDF Grade 3					
Assess	sment Guide Grade 3						
7	otal for Classroom	Package		\$40	0,021.69		
	A la Carte Items Availa	ble for Purchase					
1693045	9781328849465 HMH S	Science Dimensions Grade Level Equipment Kit Grade 3	\$477.15		\$477.15		
1693051	9781328849526 HMH S	Science Dimensions Consumable Replacement Kit Grade	\$131.75	32	\$4,216.00	\$632.41	\$3,583.68
7	otal for A la Carte la	tems Available for Purchase		\$:	3,583.68		
Tota	l for Grade 3			\$43	3,605.37		



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

Expiration Date:8/31/2018

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

I	ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
Grade	e 4						
	Classroom Package						
,	SRP/TRP						
1674196		Science Dimensions Hybrid Student Resource Package int/6yr Digital) Grade 4 2018	\$56.05	700	\$39,235.00	\$5,884.99	\$33,348.00
-	ge Includes:						
		text Set 6-Year Print Subscription Grade 4					
	Student Interactive Digita It Edition eTextbook ePub	Curriculum 6-Year Grade 4					
	n Edition e rexibook ePub padable Student Edition P						
1674232		Science Dimensions Hybrid Teacher Resource Package Syr Digital) Grade 4 Grade 4 2018	\$212.20	34	\$7,214.80	\$1,082.21	\$6,132.58
Packag	ge Includes:						
	er Edition Grade 4						
		nent Center 6-Year Grade 4					
	oadable Teacher Resourc sment Guide Grade 4	e Tool PDF Grade 4					
7	Total for Classroom	Package		\$3	9,480.58		
	A la Carte Items Availa	able for Purchase					
1693046	9781328849472 HMH \$	Science Dimensions Grade Level Equipment Kit Grade 4	\$514.60		\$514.60		
1693052	9781328849533 HMH S	Science Dimensions Consumable Replacement Kit Grade	\$196.45	32	\$6,286.40	\$942.95	\$5,343.36
7	Total for A la Carte l	tems Available for Purchase		\$	5,343.36		
Tota	l for Grade 4			\$44	4,823.94		



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

Expiration Date:8/31/2018

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

IS	SBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
Grade	<u>5</u>						
С	lassroom Package						
s	RP/TRP						
1674197		ence Dimensions Hybrid Student Resource Package 6yr Digital) Grade 5 2018	\$61.25	700	\$42,875.00	\$6,431.48	\$36,442.00
Package	e Includes:						
		Set 6-Year Print Subscription Grade 5					
	Student Interactive Digital C						
	Edition eTextbook ePub 6- adable Student Edition PDF						
Downloa	duable Student Edition FDI	Grade 3					
1674233		nce Dimensions Hybrid Teacher Resource Package Digital) Grade 5 Grade 5 2018	\$208.00	34	\$7,072.00	\$1,060.79	\$6,011.20
Package	e Includes:						
	Edition Grade 5						
	eacher Digital Managemen						
	adable Teacher Resource T nent Guide Grade 5	ool PDF Grade 5					
To	otal for Classroom Pa	скаде		\$4:	2,453.20		
	la Carte Items Availabl			·	•		
1693047	9781328849489 HMH Scie	ence Dimensions Grade Level Equipment Kit Grade 5	\$690.30		\$690.30		
1693053	9781328849540 HMH Scie 5	nce Dimensions Consumable Replacement Kit Grade	\$150.65	32	\$4,820.80	\$723.13	\$4,097.60
To	otal for A la Carte Iter	ns Available for Purchase		\$4	4,097.60		
Total	for Grade 5			\$40	6,550.80		



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

Proposal for

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

	ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
<u>HMH</u>	Science Dime	nsions Middle School					
	Student Resour	ce Package					
1674649	9781328723277	7 HMH Science Dimensions Hybrid Student Resource Package Module A (6yr Print/6yr Digital) Grades 6-8 Module A: Engineering and Science 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	e Student Interactiv nt Edition eTextboo	A 6-Year Print Subscription Grades 6-8 e Digital Curriculum Module A 6-Year Grades 6-8 ok ePub 6-Year Module A Grades 6-8 idition PDF Module A Grades 6-8					
1674650	9781328723284	HMH Science Dimensions Hybrid Student Resource Package Module B (6yr Print/6yr Digital) Grades 6-8 Module B: Cells and Heredity 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	e Student Interactiv nt Edition eTextboo	3 6-Year Print Subscription Grades 6-8 e Digital Curriculum Module B 6-Year Grades 6-8 ok ePub 6-Year Module B Grades 6-8 dition PDF Module B Grades 6-8					
1674651	9781328723291	HMH Science Dimensions Hybrid Student Resource Package Module C (6yr Print/6yr Digital) Grades 6-8 Module C: Ecology and the Environment 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	e Student Interactiv nt Edition eTextboo	C 6-Year Print Subscription Grades 6-8 e Digital Curriculum Module C 6-Year Grades 6-8 ok ePub 6-Year Module C Grades 6-8 dition PDF Module C Grades 6-8					
1674652	9781328723307	7 HMH Science Dimensions Hybrid Student Resource Package Module D (6yr Print/6yr Digital) Grades 6-8 Module D: The Diversity of Living Things 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	e Student Interactiv nt Edition eTextboo	0 6-Year Print Subscription Grades 6-8 e Digital Curriculum Module D 6-Year Grades 6-8 ok ePub 6-Year Module D Grades 6-8 dition PDF Module D Grades 6-8					
1674653	9781328723314	HMH Science Dimensions Hybrid Student Resource Package Module E (6yr Print/6yr Digital) Grades 6-8 Module E: Earth's Water and Atmosphere 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	e Student Interactiv nt Edition eTextboo	E 6-Year Print Subscription Grades 6-8 e Digital Curriculum Module E 6-Year Grades 6-8 ok ePub 6-Year Module E Grades 6-8 idition PDF Module E Grades 6-8					
1674654	9781328723321	HMH Science Dimensions Hybrid Student Resource Package Module F (6yr Print/6yr Digital) Grades 6-8 Module F: Geologic Processes and History 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	e Student Interactiv nt Edition eTextboo	F 6-Year Print Subscription Grades 6-8 e Digital Curriculum Module F 6-Year Grades 6-8 ok ePub 6-Year Module F Grades 6-8 idition PDF Module F Grades 6-8					



Attention: Victoria Denney victoria.denney@raytownschools.org

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

HMH Confidential and Proprietary

Proposal for

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

	ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
НМН	Science Dimen	sions Middle School					
1674655	N	HMH Science Dimensions Hybrid Student Resource Package Module G (6yr Print/6yr Digital) Grades 6-8 Module G: Earth and Human Activity 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	e Student Interactive nt Edition eTextbook	6-Year Print Subscription Grades 6-8 Digital Curriculum Module G 6-Year Grades 6-8 ePub 6-Year Module G Grades 6-8 ition PDF Module G Grades 6-8					
1674656	M 5	HMH Science Dimensions Hybrid Student Resource Package Module H (6yr Print/6yr Digital) Grades 6-8 Module H: Space Science 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	e Student Interactive nt Edition eTextbook	6-Year Print Subscription Grades 6-8 Digital Curriculum Module H 6-Year Grades 6-8 ePub 6-Year Module H Grades 6-8 tion PDF Module H Grades 6-8					
1674657	M	HMH Science Dimensions Hybrid Student Resource Package Module I (6yr Print/6yr Digital) Grades 6-8 Module I: Energy and Energy Transfer 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	e Student Interactive nt Edition eTextbook	-Year Print Subscription Grades 6-8 Digital Curriculum Module I 6-Year Grades 6-8 ePub 6-Year Module I Grades 6-8 tion PDF Module I Grades 6-8					
1674658	M	HMH Science Dimensions Hybrid Student Resource Package Module J (6yr Print/6yr Digital) Grades 6-8 Module J: Chemistry 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	ge Includes: nt Edition Module J 6 Student Interactive nt Edition eTextbook	6-Year Print Subscription Grades 6-8 Digital Curriculum Module J 6-Year Grades 6-8 ePub 6-Year Module J Grades 6-8 tion PDF Module J Grades 6-8					
1674659	M	HMH Science Dimensions Hybrid Student Resource Package Module K (6yr Print/6yr Digital) Grades 6-8 Module K: Forces and Motion 2018	\$30.60	700	\$21,420.00	\$3,213.00	\$18,207.00
Studei Online Studei	e Student Interactive nt Edition eTextbook	6-Year Print Subscription Grades 6-8 Digital Curriculum Module K 6-Year Grades 6-8 ePub 6-Year Module K Grades 6-8 tion PDF Module K Grades 6-8					
1674660	M	HMH Science Dimensions Hybrid Student Resource Package Module L (6yr Print/6yr Digital) Grades 6-8 Module L: Waves and Their Applications 2018	\$30.60	700	\$21,420.00	\$3,213.03	\$18,207.00
Studei Online Studei	e Student Interactive nt Edition eTextbook	6-Year Print Subscription Grades 6-8 Digital Curriculum Module L 6-Year Grades 6-8 ePub 6-Year Module L Grades 6-8 tion PDF Module L Grades 6-8					
		At Panauran Pankara			0.404.00		

Total for Student Resource Package

Teacher Resource Package

\$218,484.00



Houghton Mifflin Harcourt

Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

Proposal for avtown School District C

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

I	ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
НМН	Science Dimens	ions Middle School					
1674716	9781328723994 HM A	MH Science Dimensions Teacher Resource Package Module (Print/6yr Digital) Grades 6-8 Module A: Engineering and cience 2018	\$89.46	12	\$1,073.52	\$161.01	\$912.48
Online Downlo	-	agement Center Module A 6-Year Grades 6-8 ource Tool PDF Module A Grades 6-8					
1674717	В	MH Science Dimensions Teacher Resource Package Module (Print/6yr Digital) Grades 6-8 Module B: Cells and Heredity 18	\$89.46	12	\$1,073.52	\$161.01	\$912.48
Teache Online Downlo	-	agement Center Module B 6-Year Grades 6-8 ource Tool PDF Module B Grades 6-8					
1674718	C Er	MH Science Dimensions Teacher Resource Package Module (Print/6yr Digital) Grades 6-8 Module C: Ecology and the principle invironment 2018	\$89.46	12	\$1,073.52	\$161.01	\$912.48
Teache Online Downlo	-	agement Center Module C 6-Year Grades 6-8 ource Tool PDF Module C Grades 6-8					
1674719	D	MH Science Dimensions Teacher Resource Package Module (Print/6yr Digital) Grades 6-8 Module D: The Diversity of Living ings 2018	\$89.46	12	\$1,073.52	\$161.01	\$912.48
Teache Online Downlo	-	agement Center Module D 6-Year Grades 6-8 ource Tool PDF Module D Grades 6-8					
1674720	E	MH Science Dimensions Teacher Resource Package Module (Print/6yr Digital) Grades 6-8 Module E: Earth's Water and mosphere 2018	\$89.46	12	\$1,073.52	\$161.01	\$912.48
Teache Online Downlo	ge Includes: er Edition Module E G Teacher Digital Mana	irades 6-8 agement Center Module E 6-Year Grades 6-8 ource Tool PDF Module E Grades 6-8					
1674721	F	MH Science Dimensions Teacher Resource Package Module (Print/6yr Digital) Grades 6-8 Module F: Geologic Processes d History 2018	\$89.46	12	\$1,073.52	\$161.01	\$912.48
Teache Online Downlo		ngement Center Module F 6-Year Grades 6-8 ource Tool PDF Module F Grades 6-8					



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

	ISBN Title		Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
НМН	Science Dimensions Middle School						
1674722	9781328724052 HMH Science Dimensions Te	eacher Resource Package Module -8 Module G: Earth and Human	\$89.46	12	\$1,073.52	\$161.01	\$912.48
Teach Online Downle	nge Includes: Der Edition Module G Grades 6-8 Des Teacher Digital Management Center Module G Des Teacher Digital Management Center Module G Des Teacher Resource Tool PDF Module G Des Teacher Resource Tool PDF Module G						
1674723	9781328724069 HMH Science Dimensions Te H (Print/6yr Digital) Grades 6	eacher Resource Package Module -8 Module H: Space Science 2018	\$89.46	12	\$1,073.52	\$161.01	\$912.4
Packa	ge Includes:	·					
	per Edition Module H Grades 6-8						
Downle	e Teacher Digital Management Center Module H loadable Teacher Resource Tool PDF Module H Isment Guide Module H Grades 6-8						
1674724	9781328724076 HMH Science Dimensions Te (Print/6yr Digital) Grades 6-8 Transfer 2018	eacher Resource Package Module I Module I: Energy and Energy	\$89.46	12	\$1,073.52	\$161.01	\$912.48
	ge Includes:						
	ner Edition Module I Grades 6-8	Voor Cradoo 6 9					
Downle	e Teacher Digital Management Center Module I 6 loadable Teacher Resource Tool PDF Module I 0 sment Guide Module I Grades 6-8						
674725	9781328724083 HMH Science Dimensions To (Print/6yr Digital) Grades 6-8	•	\$89.46	12	\$1,073.52	\$161.01	\$912.4
Teach Online Downle	ge Includes: er Edition Module J Grades 6-8 e Teacher Digital Management Center Module J (loadable Teacher Resource Tool PDF Module J sment Guide Module J Grades 6-8						
1674726	9781328724090 HMH Science Dimensions Te	eacher Resource Package Module -8 Module K: Forces and Motion	\$89.46	12	\$1,073.52	\$161.01	\$912.4
Teach Online Downle	ge Includes: er Edition Module K Grades 6-8 e Teacher Digital Management Center Module K loadable Teacher Resource Tool PDF Module K isment Guide Module K Grades 6-8						
1674727	9781328724106 HMH Science Dimensions Te (Print/6yr Digital) Grades 6-8		\$89.46	12	\$1,073.52	\$161.01	\$912.4
Teach Online Downle	Applications 2018 ige Includes: ier Edition Module L Grades 6-8 ier Eacher Digital Management Center Module L i loadable Teacher Resource Tool PDF Module L isment Guide Module L Grades 6-8						
	Total for Teacher Resource Package			\$1	0,949.76		
	Common Cartridge/Equipment Kits			•			
1693597	9781328853806 Science Dimensions Manipul	ative Consumable Module A	\$63.40	23	\$1,458.20	\$218.72	\$1,239.4
1693599	9781328853820 Science Dimensions Manipul	ative Consumable Module B	\$90.09	23	\$2,072.07	\$310.84	\$1,761.3
	Cost Proposal Discount Charge	Attention: Victoria Denney				Experience ark Center Loop)
	Houghton Mifflin Harcourt ode: K1200019PB	victoria.denney@raytownschools.org			FAX: 800	FL 32819 0-269-5232	
- Jupon O(006740002 Sald-0000154820 Sk	HMH Confidential and Proprietary			k12orders(@hmhco.com	

Proposal for Expiration Date:8/31/2018

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

	ISBN Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
НМН	Science Dimensions Middle School					
1697682	9781328879714 HMH Science Dimensions Manipulative Consumable Module C Grades 6-8	\$106.35	23	\$2,446.05	\$366.91	\$2,079.20
1697803	9781328879721 HMH Science Dimensions Manipulative Consumable Module D Grades 6-8	\$38.15	23	\$877.45	\$131.63	\$745.89
1697804	9781328879738 HMH Science Dimensions Manipulative Consumable Module E Grades 6-8	\$29.45	23	\$677.35	\$101.61	\$575.69
1693601	9781328853844 Science Dimensions Manipulative Consumable Module F	\$67.95	23	\$1,562.85	\$234.43	\$1,328.48
1697805	9781328879745 HMH Science Dimensions Manipulative Consumable Module G Grades 6-8	\$98.10	23	\$2,256.30	\$338.45	\$1,917.74
1697806	9781328879837 HMH Science Dimensions Manipulative Consumable Module H Grades 6-8	\$83.35	23	\$1,917.05	\$287.55	\$1,629.55
1697807	9781328879844 HMH Science Dimensions Manipulative Consumable Module I Grades 6-8	\$88.20	23	\$2,028.60	\$304.29	\$1,724.31
1697808	9781328879851 HMH Science Dimensions Manipulative Consumable Module J Grades 6-8	\$109.80	23	\$2,525.40	\$378.81	\$2,146.59
1697809	9781328879868 HMH Science Dimensions Manipulative Consumable Module K Grades 6-8	\$104.55	23	\$2,404.65	\$360.70	\$2,044.01
1693623	9781328853868 Science Dimensions Manipulative Consumable Module L	\$65.15	23	\$1,498.45	\$224.78	\$1,273.74
	Total for Common Cartridge/Equipment Kits		\$18	3,466.01		

Total for HMH Science Dimensions Middle School

\$247,899.77



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

Raytown School District C2

HMH Science Dimensions 2018 Hybrid Package 6 Yr

I	SBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
Scien	ce Dimensions	2018 Biology					
1672757		HMH Science Dimensions Biology Hybrid Student Resource Package 1 Year Print/6 Year Digital	\$101.91	700	\$71,337.00	\$10,699.76	\$60,634.00
Studen	e Includes: t Edition						
	rd Online Student l adable Student Ed						
1672749		HMH Science Dimensions Biology Hybrid Teacher Resource Package with 1 Year Print/6 Year Digital	\$265.00	11	\$2,915.00	\$437.25	\$2,477.75
Teache Online	re Includes: er Edition	Digital Management Center 6-Year					
1664549		HMH Science Dimensions Biology Common Cartridge 6 Year 2018	\$25.28	700	\$17,696.00	\$7,197.75	\$10,500.00
	Proposal Summary						
		Total Savings:	\$	106,116.15			
		Subtotal Purchase Amount:		571,042.07			
		Shipping & Handling (1.00%):		\$5,605.42			
		Total Cost of Proposal (PO Amoun	ot): \$5	76,647.49			J



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

Raytown School District C2 HMH Science Dimensions 2018 Hybrid Package 6 Yr

Total Cost of Proposal (PO Amount): \$ 576,647.49

This is a proposal only.

This proposal is subject to HMH's Standard Terms and Conditions ("Ts & Cs") below:

http://www.hmhco.com/common/terms-conditions>

Ts & Cs are also found on HMH invoices.

HMH reserves the right to modify its Ts & Cs from time to time and agrees to notify you prior to such modifications becoming effective.

Unless otherwise agreed in writing, orders for Professional Services shall expire upon the earlier of (i) expiration of customer's funding or (ii) 24 months from receipt of the order.

Date of Proposal: 4/25/2018 **Proposal Expiration Date:8/31/2018**



Houghton Mifflin Harcourt



Attention: Victoria Denney victoria.denney@raytownschools.org

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232